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Al 21,970,652
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Al 6,000
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Al 6,000
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Lo SXAE Td & &8 4,254,988 7,3%,820 A3,141,832
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- 147,198
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OAIL g 29 360,000
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01 Al&HI 1,400,000 4,200,000 /2,800,000
OsRd el=si2 A
1,400,000,000& 1,400,000
ABISXIBAIR MM (L), ZOHe!, M) 91,100 85,800 5,300
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- 26,400
307 @I2t0| & 91,100 85,800 5,300
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- 26,400
10 Al2ISTIAEEE2HIEX 91,100 85,800 5,300
OARISXIAIE SAHL $EE SXEQUE
K& (=l ZoHe!, M2 F)
64,700,000 64,700
Al 64,700
OMQIEII/\I“ S XEE SXEUE
=0t X2 200,000 »132H 26,400
LolaseRtel X 124,010, 161 114,968,733 9,041,428
= 94,456,331
Al 20,891,8%
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= 86,545,335
Al 12,980,900
- 8,653,934
301 EtE NS 108,180, 169 99,407,849 8,772,320
= 86,545,335
Al 12,980,900
- 8,653,934
01 Al EE A S (2 DEXR) 108,180, 169 99,407,849 8,772,320
(OPJESEE 108, 180, 169,000 108,180, 169
= 86,545,335
Al 12,980,900
- 8,653,934
colgiiel & ABIES KIZ A 15,829,992 16,560,884 269,108
= 7,910,996
Al 7,910,996
T 8,000
201 er23| 68,612 62,146 6.466
= 30,306
Al 30,306




od
i’
oF
uJ

3 s ° | E
2 - o < <
w | |°
E
E=)
g e N N 8 S
- > 9, ! i)
[oN] — — o0} o 0]
war | |2 § |8
ik o o
RIS
S| 888 B 8383383 888 8Hmsm 8888 SR 8 3| N8I3R ERIB I S 3
Sl §9 S WL HEK ©65 9hl SBHHS SIS 9O SNBDIN N B A
[ee] < AN Al — 0 w0 M~ o0 ™M — » — — o ©O© O o Q| — — — M~ M M~ N~ Ql
@ - fe=s F SEE9S B8
mﬁ ANl — — | AN N N —
<
=3
= = = = = = = = =
+ rir rir i rir i rir i i i i
] ol ) i o | ] oW ]
8 R 3 ¥ 8 S S N =
S 0 N 0 S S S > >
= [N} o) [m]
Oir g 3 ol 3 8 g g e 3
X0 < %_H._ m oF 9 se) © 30 D>y
2] W =} m B X [od
y 7S _ S _mvm G| . m
ol o Bl ' 8 s 2
x o 0 " ) Kl 5 8 SR
o E E Gl o0 = 5 3 K5 i
= 4o i o0 Al 9] i & = Moo
- : i SR
= K [ K ~ ] 0 K = wE2
i o) ) ) 7 o A0 ) 30 M= &
um ®0 ®0 ®0 <+ <1 Mo R0 il Mﬂ. O
o I E o @ o @ o s T o it R
) o K = = = = = g K T K il g0 K ol
- ol oll oll oll oll oll o0 ol = ol Y H ol ol
[ o- o o) o) o) o) o) =3 |5 = ol = o o A
RO = A H H H H H I A oll =z H O
. — O O O O O O «w O N — O — - O
_|
1




SA I OoNel
M o= Jet =4
el =elasgRel XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,196,250
O=olUR2l HOX BELY
30,0002 x75F 112 24,750
= 12,375
Al 12,375
Ol H0A doi2s
14,0003 *750& 10,500
= 5,250
Al 5,250
307 21201 & 13,331,710 13,068,318 263,392
= 6,665,855
Al 6,665,855
11 AMEISXAEEES 13,331,710 13,068,318 263,392
OLoldXtel AtHI(~8D12t) 13,331,710
OLQlXte] AtbI(=&D]2t)
12,561,594,000& 12,561,594
= 6,280,797
Al 6,280,797
Ol Xtel e A Al (=8D[2)
770,116,000 770,116
= 385,058
Al 385,058
cel =X 58 6,922,092 7,065,649 133,557
= 262,285
= 2,183,615
Al 2,560,799
- 1,915,393
Lel=EX X 5,846,562 6,021,386 A174,824
= 125,659
[ 2,183,615
Al 2,315,555
- 1,221,733
celog=EXAE X3 630,968 448,230 182,738
= 125,659
Al 501,979
- 3,330
201 er23| 2,520 2,520
01 At2tltl 2,520 2,520
O XNd dARAER =¢
70,0002 x4 <03 2,520
202 048l 810 810
01 2L AL 810 810
OZ2|0tl 810,000 810
307 212+01& 376,320 350,880 25,440




SA I OoNRl
Hm: Lol =X =
el ==X A3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 376,320
10 Al SXAZEE 22X 376,320 350,880 25,440
oI 2SS XAE SAHR X2
376,320,000 376,320
Al 376,320
402 2IZtA=01d 251,318 93,420 157,898
= 125,659
Al 125,659
02 RIENEASEZ(0IETHR) 251,318 93,420 157,898
OL0RAAE JISELZAE
251,318,000 251,318
= 125,659
Al 125,659
OSSN EHS 28 N 441,879 425,085 16,794
Al 441,879
307 212+01& 441,879 425,085 16,794
Al 441,879
10 AlISXAAEEHE 22X 441,879 425,085 16,794
Ool==sXEHE 28 N
142,253,000 *3H 2 426,759
Al 426,759
OLQ==SXNHEHZ SAMAL MM+
150,000 x6& * 122 10,800
Al 10,800
OLQ=SXNHEHZ SAHL AH2H+g
40,0002 x0E* 122 4,320
Al 4,320
NAS ol Ha2y 1,550,500 1,994,150 A\443,650
Al 827,975
- 722,525
201 er23| 2,000 2,000
01 AtR2t2|HI 2,000 2,000
Ogdzad 28 225 78 =
2,000,000& 2,000
203 gF=4| 600 750 A150
03 A=A 2= 600 750 A150
O=F2AIH =& 600,000 600
301 EtE NS 372,650 372,650 0
Al 52,575
- 320,075
02 MR 2HASFS(HAAS, XLHE) 105,150 105,150 0
COMEAIN 238l
100,000 +701& 70,100
Al 35,050
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50,0003 +701& 35,050
Al 17,525
- 17,525
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307 @I2t0| & 1,149,250 1,594,750 A\445,500
Al 775,400
- 373,850
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Oogzag 2% 976,000,000 976,000
Al 683,000
- 293,000
OMAS Tl AIAHHE ALY
173,250,000& 173,250
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- 80,850
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= 114,000
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= 114,000
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- 57,000
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2,914,643,000& 2,914,643
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Al 437,19%6
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Al 4,800
O QIXZSSMUIA SAH MM+
100,000& x10&+12& 12,000
Al 12,000
Foipei2 aIAd &X 88,732 0 88,732
= 29,366
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Al 25,830
- 25,830
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Al 15,000
- 50,000
01 ML SEFHSHI 65,000 65,000 0
Z2Y JIsE43s XA
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Al 15,000
- 50,000
22 S e & 2=2H| K& 273,255 226,8% 46,359
= 136,626
Al 68,314
- 68,315
307 212+01 A 273,255 226,8%6 46,359
= 136,626
Al 68,314
- 68,315
10 IS SXAIEHE2ZHIEX 273,255 226,896 46,359
OZ2Y SEI| e X2
400,000 ¥501 & *90JH A 180,000
= 90,000
Al 45,000
- 45,000
O32Y 4| stAIXIA
175,000 *20H 2 *90H A 31,500
= 15,750
Al 7,875
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OZzg FTN
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= 30,876
Al 15,439
T 15,440
A2 AL 2l 96,939 97,627 A688
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01 AtR2telbl 26,162 25,650 512
OISTAIL SHTE UIS
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OI=XAIE &I #=2ld
3,000,000 3,000
OstHARL ARAG &I| - A% OFTH
=9 3,360,000& 3,360
OstgE2d d2Aald sZJ| |22l
130,000& « 122 1,560
Ostg0i28E s3I KXY
150,000 « 122 1,800
OZ2g SJI1EEI] 2wk
52,0002« 1964 10,192
02 3224l 10,777 1,977 A1,200
OZZ223ZHA 10,777
OLCI=XIAIE &Y ZH=l8]
1,045,000 1,045
032 2==Hel FA2el
8,532,000& 8,532
OstdZ2d d2Ald Stes ¥ =
MRS 1,200,000& 1,200
401 Al HIZ 2018 60,000 60,000
01 AlZH| 60,000 60,000
Oodzg e+ 60,000,000& 60,000
SHLXE 29 133,676 121,977 11,699
Al 13,250
T 120,426
307 212+01& 133,676 121,977 11,699
Al 13,250
- 120,426
03 QIIHHEHE 22X 75,176 73,677 1,499
Os7:oXsl 24| 75,175,020 75,176
11 AR S XA E X 58,500 48,300 10,200
O=Me ssd K& 2,000,000 2,000
Al 1,000
T 1,000
Ooeolths X 9,000,000& 9,000
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Al 10,000
- 19,000
OZ=Y AlLIfZE X
6,500,000 6.500
OZ=g0i=4l otatetited 28X
12,000,000 12,000
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= 13,319,897
Al 12,114,286
- 685,283
HoeIl=X X2 23,470,640 22,301,768 1,168,872
= 12,002,401
Al 10,855,361
- 612,878
JoHI=XHR =8 20,715 17,415 3,300
201 eer23y| 19,905 16,605 3,300
01 AtR2t2|HI 12,570 9,270 3,300
Odgt==H| 4,070
O XSxH EAI 7
2,000,000 2,000
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2,000,000& 2,000
OSSN SE= 70,0002 *12] 70
OFEML! LD W= AR
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=2 350,000& 122 4,200
OHMIEE TS PR 2AC|AAE
REMICH SAAH Al 2,000,000 2,000
O<I3s 39 =& 2,000,000& 2,000
02 S22l 7,33 7,33% 0
Ol =Xt L& S|
3,820 %1604 12& 7,335
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01 =LHAHI 810 810
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Al 4,634,842
- 279,592
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- 83,014
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Al 969,382
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703,440,000 703,440
Al 703,440
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. ZOje =X S8
Rl oIS A=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 768,000
ZOHUESEX IS HIRA 134,573 134,573 0
= 94,201
Al 40,372
307 212+01& 134,573 134,573 0
= 94,201
Al 40,372
05 2ItRIE = 134,573 134,573 0
OHUMALSXHAIS TS0
134,573,000& 134,573
= 94,201
Al 40,372
2EMEAMEIL BEIRH XS 870,000 870,000 0
= 609,000
Al 131,000
- 130,000
307 el2to| & 870,000 870,000 0
= 609,000
Al 131,000
- 130,000
05 212t =S 870,000 870,000 0
OZLTHEAMEIA BRI
870,000,000 870,000
= 609,000
Al 131,000
T 130,000
HOLEXE HIRMAIE 18,000 18,000 0
= 12,600
Al 5,400
307 @20l & 18,000 18,000 0
= 12,600
Al 5,400
05 2IR”IRIE = 18,000 18,000 0
SEMET=IENTES DL
18,000,000 18,000
= 12,600
Al 5,400
LEHQ FHESHEIAXRA 2,407,543 2,168,457 239,086
= 1,685,280
Al 722,263
307 gl2to| & 2,407,543 2,168,457 239,086
= 1,685,280
Al 722,263
05 eit?(& = 2,407,543 2,168,457 239,086




SN COIFORQI Dt
. ZOje =X S8
Rl oIS A=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LIl FAHEAMUA X2
2,407 ,543,000& 2,407,543
= 1,685,280
Al 722,263
LEH F2HESAHEIA AHIFIKIA 111,518 111,518 0
Al 111,518
307 elztol & 111,518 111,518 0
Al 111,518
05 2ItRIE= 111,518 111,518 0
OBl EAHEAHHIA X2
111,518,000 111,518
Al 111,518
LEHR LU=ESAHIA X2 410,000 514,743 A104,743
= 287,000
Al 123,000
307 lztol & 410,000 514,743 A104,743
= 287,000
Al 123,000
05 21t =S 410,000 514,743 A104,743
OFAd 2EIMY dU=2SAHEIL X
= 410,000,000 410,000
= 287,000
Al 123,000
22T FRA4EXH 7,887 7,619 268
= 5,520
Al 2,367
307 elztol & 7,887 7,619 268
= 5,520
Al 2,367
05 2IHRIE S 7,887 7,619 268
Ogadie FR2ac S48
7,887,000& 7,887
= 5,520
Al 2,367
ZESES LET0HR =2F HE 1:1 AZ A 288,008 0 288,008
= 144,004
Al 100,803
- 43,201
307 gl2to| & 288,008 0 288,008
= 144,004
Al 100,803
- 43,201
05 212t =S 288,008 0 288,008
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. ZOje =X S8
s ZoHeI=EX X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OzISE LEIM =2t JHE 1:1 XA
288,008,000& 288,008
= 144,004
Al 100,803
- 43,201
ZSE €2 =2t 18 111 NFAL 471,500 0 471,500
= 330,050
Al 141,450
307 el2to| & 471,500 0 471,500
= 330,050
Al 141,450
05 git?(& = 471,500 0 471,500
OzlsZ 2EHM =2t 15 111 X&
471,500,000& 471,500
= 330,080
Al 141,450
gofel=s =0 A= 4,103,051 3,988,775 144,276
= 2,872,136
Al 1,230,915
301 LEtE N = 4,103,051 3,958,775 144,276
= 2,872,136
Al 1,230,915
01 Al EE A S(FRNEEA) 4,103,051 3,958,775 144,276
OIS 4,103,051,000& 4,103,051
= 2,872,136
Al 1,230,915
=2 0Ix)X= 761,127 712,082 49,045
= 532,789
Al 159,837
- 68,501
301 22N = 761,127 712,082 49,045
= 532,789
Al 159,837
- 68,501
01 Al EE A S (FRNEXA) 761,127 712,082 49,045
OFM=E(I=x) 761,127,000 761,127
= 532,789
Al 159,837
- 68,501
F=E (XS XS 410,439 436,673 ND6,234
= 287,307
Al 86,192
- 36,940




SN COIFORQI Dt
. ZOje =X S8
Rl oIS A=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 410,439 436,673 N26,234
= 287,307
Al 86,192
- 36,940
01 AR 2EHSHS(RNEXRTHE) 410,439 436,673 N26,234
OF =S (X&) 410,439,000 410,439
= 287,307
Al 86,192
- 36,940
NASZOHQ! MESE 246,000 242,905 3,095
Al 246,000
301 EetE2 NS 246,000 242,905 3,095
Al 246,000
02 A2 EH 2GS (FHAAHS, W) 246,000 242,905 3,095
OMaS SSEL =<
246,000,000 246,000
Al 246,000
ZOoHel2 = HIXI# 29,575 68,135 A38,560
= 23,660
Al 5,915
308 AXIHMSOIA 29,575 68,135 38,560
= 23,660
Al 5,915
18 SIS0t HAS A 29,575 68,135 138,560
O2l2Hl X (222028, XHa?=2g
EEAY 29,575,000& 29,575
= 23,660
Al 5,915
MASHOHR! &EHl 2 ZAHIXIZ 3,738 3,374 364
= 1,869
Al 1,869
301 EtE N = 3,738 3,374 364
= 1,869
Al 1,869
01 Al EE A S (2 RDEXA) 3,738 3,374 364
OMNAS ZO0HQl &l & A X2
3,738,000& 3,738
= 1,869
Al 1,869
ZONUERID| W= 13,737 13,923 A186
= 10,990
Al 2,741
301 EtE NS 13,737 13,923 A186




SN COIFORQI Dt
. ZOje =X S8
Rl oIS A=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 10,990
Al 2,741
01 A2 HSHS(RNEERTH) 13,737 13,923 A186
OZMAEERID WS KIJAA
13,737,000& 13,737
= 10,990
Al 2,747
ZOHRIEH O SR | =X HH2 Y 48,909 43,750 5,159
Al 17,500
- 31,409
307 212+01& 48,909 43,750 5,159
Al 17,500
- 31,409
02 LB HAHE L 48,909 43,750 5,159
OZ0fQ! HOSA J&XJAME 23
48,909,000& 48,909
Al 17,500
- 31,409
ZOHI XS HEAIL JIS2EZAE 19,238 0 19,238
= 9,619
Al 9,619
402 2I2E X201 & 19,238 0 19,238
= 9,619
Al 9,619
02 QI T2 AL EE (01X THE) 19,238 0 19,238
OZMAXLHEAIE JISEZAS
19,238,000 * 100 &~ 19,238
= 9,619
Al 9,619
Ol ARIEO X 2,648,826 2,756,657 /107,831
= 1,317,4%
Al 1,258,925
- 72,405
o LT e K& (ML ML Rt2l) 1,142,812 1,158,274 N15,462
= 571,406
Al 571,406
301 eEetE2 N = 1,142,812 1,158,274 15,462
= 571,406
Al 571,406
01 Al EE AL S(FRDEXHA) 1,142,812 1,188,274 15,462
OFHL Xl X & (ML ML)
1,142,812,000& 1,142,812
= 571,406
Al 571,406




2A:

NI FOHQl =X A
Rl ZOoHR! AFRIEO K (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0Ol LXI2IXIR (AIZEMI RI2!) 360,892 386, 183 N25,291
=2 180,446
Al 180,446
301 LEHE XS 360,892 386,183 A25,291
= 180,446
Al 180,446
01 ARRIEEEAHS(ZNEETIA) 360,892 386,183 N25,291
OZOHILXI2I IR (AIZEMIZ Xi2l)
360,892,000 360,892
= 180,446
Al 180,446
Fofol LRI A (SRS LX) 604, 102 695,079 A90,977
=2 302,051
Al 302,051
201 LBt2HY| 2,000 2,000 0
= 1,000
Al 1,000
01 Al22t2|H] 2,000 2,000 0
OHofQIL X2 22| 2,000,000 2,000
= 1,000
Al 1,000
301 LA 531,858 693,079 A161,221
= 265,929
Al 265,929
01 AR EXEAHS(ZRERTIA) 531,858 693,079 A161,221
OZOHQ! =X LXI2IXIR (LEHE)
531,858,0002 531,858
= 265,929
Al 265,929
307 QI2+0|& 70,244 0 70,244
= 35,122
Al 35,122
05 QIZIRIEZ 70,244 0 70,244
OZOHR! =X LXI2IXIR (RAEE)
70,244,000 70,244
=2 35,122
Al 35,122
SERHOl QUAESAF EXAX L 189,490 169,186 20,304
= 94,745
Al A,745
307 QI2+0|& 189,490 169, 186 20,304
= A,745
Al A,745




SA I OoNel 1t
M Mojol =X ZX
Sl ZOHR! ARl XI# (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 189,490 169,186 20,304
OZOHALRIIXIH (LR LU S A
SBRUXte) 189,490,000& 189,490
= 94,745
Al 94,745
AIZHE0H QI QHOFAIFA ALY 189,210 187,695 1,515
= 151,368
Al 37,842
307 212+01& 189,210 187,695 1,515
= 151,368
Al 37,842
05 2IIRIE =3 189,210 187,69 1,515
OAIZZ0Hel QtOMAF THAAFS
189,210,000& 189,210
= 151,368
Al 37,842
LEY d=sLRSNSA 52,770 52,770 0
Al 52,770
301 EtE N = 52,770 52,770 0
Al 52,770
02 ARSI 2E AT S(FIANS, XLETHE) 52,770 52,770 0
O gi=sedielXA
52,769,800 52,770
Al 52,770
o2t = K& 65,850 60,850 5,000
307 212+01& 65,850 60,850 5,000
02 LB HANHEE 27,300 22,300 5,000
OXXHLSHMHA=XEE SR ALY 3,000
ORZ2uW=s 1,000,000& 1,000
OJ=ZJIU = 2,000,000& 2,000
OXIMEMEal SFXS At 19,300
o=23mHEY 4,000,000 4,000
o=XsdUz= 7,300,000 7,300
OXIGAMHS ?0E 5,000,000& 5,000
OZHO o 3,000,000& 3,000
OSUEMIF2s S22 5,000
OZZTM AIRIES Z2 0
5,000,000& 5,000
03 2N EE2SHIEx 38,550 38,550 0
OXNHEZHMI=SXE ST 2EH|
7,300,000& 7,300
OXMEMIEs S+Klal 2l
31,250,000& 31,250
ST SSHEXIAY 43,700 46,620 A2,920




2A:

_\‘__
. ZOje =X S8
Rl ZOoHR! AFRIEO K (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 17,480
Al 19,665
- 6,555
307 @I2to| & 43,700 46,620 A2,920
= 17,480
Al 19,665
- 6,555
1 AMISXAIEEXS 43,700 46,620 2,920
O S=ZLEAE
43,700,000 43,700
= 17,480
Al 19,665
- 6,555
NASE dgoryd Jgt 1= 54,467,002 50,408,479 4,088,523
= 48,500,898
[ 188,112
Al 3,945,719
- 1,862,273
NASE I =dE2d 50,369,381 46,211,474 4,157,907
= 45,108,456
Al 3,601,774
T 1,659, 151
NASE degtdid 162,902 154,071 AT1,169
201 er23 | 840 420 420
01 Al2 2218 840 420 420
OMEBLTLAAS| 319 HASEY
70,0002 x6 2 *23] 840
202 04| 810 810
01 2L A LI 810 810
O/t 810,000& 810
203 gF=4| 700 720 A0
03 A=A =] 700 720 220
OFQAIH =& 700,000 700
301 LEtE NS 150,552 152,121 A1,569
02 A2 XSG (FHAAHS, W) 150,552 152,121 1,569
OJIzd4e23+3 1 SEHNSE
31036, 1002 12 ~60H 136,152
ONASE HI(eY)2E=
1,200,000« 128 14,400
AAHZS0 36,226,427 30,915,069 4,311,358
= 31,703,784
Al 2,465,850
- 1,056,793
301 EtE NS 356,226,427 30,915,069 4,311,358

_21_




FA I OoNer 1t
M HASE MBOIF J|g 1%
BHel: NASS JIZMEEH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 31,703,784
Al 2,465,850
- 1,056,793
01 Al E2E AL S(FRDEXH) 36,226,427 30,915,069 4,311,358
OdA=N 35,226,427,000& 36,226,427
= 31,703,784
Al 2,465,850
- 1,056,793
FHSN 14,342,537 14,691,897 349,360
= 12,908,283
Al 1,003,978
- 430,276
301 EtE NS 14,157,537 14,566,111 AN408,574
= 12,741,783
Al 991,028
- 424,726
01 Al EE A ZS(2DEXMR) 14,157,537 14,566,111 A408,574
=M= 14,157,537,000& 14,157,537
= 12,741,783
Al 991,028
T 424,726
403 MR HHMSAH=01H 185,000 125,786 59,214
= 166,500
Al 12,950
- 5,550
02 SIS0t =S A A 185,000 125,786 59,214
Ox=dRAS0AE SAXAISI
185,000,000 185,000
= 166,500
Al 12,950
- 5,550
WS (SHEEXY) 12,753 12,190 563
308 AtXIEMSOIH 12,753 12,190 563
08 W=J|A0He 2 & 12,753 12,190 563
OuUSSH(SHAERH)
12,753,000& 12,753
SHAE NSO 214,232 200,006 14,226
= 192,809
Al 14,996
- 6,427
301 LEetE N = 214,232 200,006 14,226
= 192,809
Al 14,996




FA I OoNer 1t
M NASE 4208 I8t 25
o NASSE JzdEed (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
- 6,427
01 Al EE A S (FRNEXMH 214,232 200,006 14,226
@) RPN =10 214,232,000& 214,232
= 192,809
Al 14,996
- 6,427
=2 186,630 154,641 31,989
= 186,630
201 er23 | 186,630 154,641 31,989
= 186,630
01 At22t2l] 186,630 154,641 31,989
OZRatc|et= =hid| 186,630,000 186,630
= 186,630
HEFA Al SEXA 230,300 80,000 150,300
= 115,150
Al 115,150
301 22N 230,300 80,000 150,300
= 115,180
Al 115,150
01 Al EEAEZ2(2REZME 230,300 80,000 150,300
OHIEN BtAl SEXH
230,300,000& 230,300
= 115,150
Al 115,180
HIE&HM H=X OlAH] XI& 3,600 3,600 0
= 1,800
Al 1,800
301 22N = 3,600 3,600 0
= 1,800
Al 1,800
01 Al EEAGZ2(2DEZME 3,600 3,600 0
OBIZEAHHHETH0IAM
3,600,000& 3,600
= 1,800
Al 1,800
NASENHEAE 4,097,621 4,197,005 A99,384
= 3,392,442
= 158,112
Al 343,945
- 203,122
AE 22 A 2,644,337 2,510,531 133,806
= 2,379,903
Al 185,104

_23_




FA I OoNer 1t
M HASE MBOIN J|g 1%
=2 MASSAEAE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 79,330
402 2IZtA=01d 2,644,337 2,510,531 133,806
= 2,379,903
Al 185,104
- 79,330
03 2IZ+RAETAIS I 2,644,337 2,510,531 133,806
OXEZZ A I 2,644,337,000& 2,644,337
= 2,379,903
Al 185,104
T 79,330
NS I2HE 29 443,371 447,007 A3,636
= 310,360
Al 66,506
T 66,505
307 glztol & 443,371 447,007 A3,636
= 310,360
Al 66,506
- 66,505
10 Al2ISTIAIEEE 22X 443,371 447,007 A3,636
OXISIt2HHE 24| 443,371,000 443,371
= 310,360
Al 66,506
- 66,505
KNS XEHE SAG =2 X 3,840 18,240 214,400
Al 3,840
307 gl2to| & 3,840 18,240 A 14,400
Al 3,840
10 Al SXAIEEHE2EHI 22X 3,840 18,240 214,400
OXNSAEHE SANAE =S
40,0002 x8&* 12 3,840
Al 3,840
IR E S E XA 210,000 180,000 30,000
= 147,000
Al 31,500
- 31,500
402 2I2E X201 & 210,000 180,000 30,000
= 147,000
Al 31,500
- 31,500
03 2I2+LAEAIZHI 210,000 180,000 30,000
OIAHE S 23
210,000,000 210,000
= 147,000

_24_




FA I OoNer 1t
3 MASS dEot8 Jlgt 15
Bel: NASSTHEXR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 31,500
T 31,500
ZEsEAs==MAE =S Z A 780,19 1,041,227 A261,028
= 702,179
Al 54,614
- 23,406
402 QI2F X201 & 780,19 1,041,227 A261,028
= 702,179
Al 54,614
- 23,406
03 2IZHAETAIHHI 780,19 1,041,227 A261,028
O2zs=EUers e -=a X3S
780,199,000 780,199
= 702,179
Al 54,614
- 23,406
K Arell2tel Al 2 15,874 0 15,874
s 1,112
Al 2,381
- 2,381
307 @I2t01 & 15,874 0 15,874
= 11,112
Al 2,381
- 2,381
10 AlRISXAIZEHE 22X 15,874 0 15,874
OXHZ At 22| AL 2E 15,874,000 15,874
[ 1,112
Al 2,381
- 2,381
HH=2Z 3 161,056 157,361 3,695
QA2 AHHI(L- I &I 99,268 9,813 2,455
el 24| 99,268 9,813 2,455
101 @124H| 99,268 9,813 2,455
01 &= 97,101 94,735 2,366
Ozxu=z2e=g 97,101
OAIZRZRE
12,8443 +3BA| 2Hx18H* 122 97,101
02 JIet&R 2= 2,167 2,078 89
Oz R=E 2,167
OAIIRIZR4Z (AIIEEADIH O0H=2)
10,0303 18AI 2t 1= 123 2,167
Jl=22HI(-elZoqelnt) 61,788 60,548 1,240
Jl=23H] 61,788 60,548 1,240
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SA I OoNel
B sm2o2AY|
SRl D12l ( =X 0K oIt EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 24,948 22,908 2,040
01 At2teltl 24,948 22,908 2,040
OJlE A2l 21,0002 x198 122 4,783
O=AD| gits 240,000 = 1CH*12& 2,880
OSZ2&& SAHl
9,000 «20H +8A!x 122 17,280
202 04| 33,600 33,600
01 2LHoIH 33,600 33,600
o2l 20,0002 «20S+7 & * 122 33,600
203 HRP=H] 3,240 3,240
M A2 LRFAI 3,240 3,240
O21E=24(200l3t) 300,000 * 122 *90% 3,240




